Year 4—Money— Division Money Problems

Quick division facts. Complete the divisions below as quickly as you can. You can time yourself and write your time in.

50+10=
49 +7 =
30+5=
18+2=

20+4-=

36+6=

48+ 6=

20+10=

81+9=

35+5=

24 -4 =

100+ 10=

25+5=

22+11=

12+3=

99+11=

12+1=

Time

Complete the division problems

7 bouncy balls cost £35. How much does 1 bouncy ball cost?

Six flower pots cost £42. How much does 1 flower pot cost?




Lunch cost £14.80. Jack and James shared the cost equally. How much does it cost them each?

Three turns of the dodgems cost £9.30. How much does 1 turn cost?

Five toy ships cost £25.40. How much does 1 toy ship cost?

Two cheeseburgers cost £8.12. How much does 1 cheeseburger cost?




